Adam Turnbull - Tree Surgeon

The tree it question is a 60foot beech tree that's the end tree in a row of 3 beech trees.

It is situated 1foot away from a brick wall and 2 foot away from the building structure behind.
The beech tree has had previously been lifted to 20 foot ,faced back hard and been over thinned
which has caused it to go into decline and lose various large limbs.

The crown of the tree has no growth on and appeérs to be dead standing.

Due to the location of the tree and as it's in massive decline | recommend that the tree should be
removed for health and safety reasons.
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